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Q1. Answer the followings (Any Two) 15

1. Explain the important policy changes in NEP 1991
2. Bxplain the need of Inclusive growth in India.
3. What is HDI? Explain its significance.

Q2. Answer the followings (Any Two) 15

1. Explain causes of low agricultural productivity
2. ‘What is Pubic distribution system? Explain its need
3. Explain role of WTO in Indian agriculture

Q3. Answer the followings (Any Two) 15

1. What is Competition Act? Explain its features
2. Discuss the growth and performance of service sector in brief
3. Explain comprehensive policy package for SST’s

Q4. Answer the followings (Any Two) 15

1. Explain barking reforms since 1991 in India
2. Explain RBIs recent measures of Money supply
3. Explain causes of inflation in brief.

Q5. A) State whether True or False with proper reason (Any Four) 08

The role of public sector is expanded under the new policy
Educated unemployment is a result of defective education system
PDS distributes subsidized food to India’s rich people
Agriculture sector is showing downwards trends over the years.
MRTP is based on the post liberalization scenario

The competition act was passed in 1991

M3 is a broad mongy

Inflation is an universal phenomenon

I S

Q5. B) Select correct alternative (Any Seven) 07

I s state has the highest PCI india

2. Inclusive growth conceptualized in year plan
o Tifth
e Eleventh
o fenth




3. Human Development Reports are the annual publication of

e UNDP
» IMF
¢« WTO
4. WNational Food Security Mission was announced in the year--------=--=--—-—-
e 2004
e 2007
e 2005
5. Yellow card is issued to people ~-------=mamm--mnman
e Private sector
= APL
« BPL
6. Buffer stock is the stock of good grains procured by the government through-------«-=----
e IDBI 2
o IFCI
s FCI

7. The investment level for a micro manufacturing enterprises is
o Ten crore
e Twenty five lac «
+ Five crore

8. Comprehensive package policy was announced in the year-----------------

s 2005
s 2002
« 2000
0, mmmmmemmrmenmeee is the fastest growing sector of Indian economy
s Agriculture
» service

» manufacturing
10. The RRB’s are sponsored by

« UTI
¢« SBI
e RRI _ ;
11. In India total money stock is represented by
s Ml
« M3
e M2
2 is known as rise in price level

e Deflation
e Inflation
+ stagflation




Marks : 75 Semester -4 Time : 2 hrs 30 mins

Alf questions are compulsory and carry 15 marks each.

QUES. 01 07+ 08

State True or False ;

It is necessary to insure stodk

Abnormal items are slow moving items.

Debentures can be redeemed only at discount
Preference Shareholders have fluctuating returns

ALT + F4 keys are used to select the company info menu.
Debenture certificates are prserved after redemption

b e

Only fully paid up preference shares can be redeemead

N s W

Fill in the Blanks :

Fire destroys assets and also,

Equity share have rights.
key is used to dupiicate & vaucher,
___cannot be used for creatian of Capital Redemption reserve,

I,

Z,

3

4.

5. Purchases should be o trading-account.

6 debentures can be redeemead by issue of shares.
7 order is issued by buver to seller,

8 saved from: fire are termed as salvage.

QUES. 02 15

A fire occurred in the pramises of Micromax Ltd. on 1% September 2012 and stock of the value of 8s,
1,20,000 was salvaged. However sooks and records were sayvad from which the following information
was availabie ;

Far yearended 31.03.2011 Sales —Rs., 24,00,000 Purchase — Rs. 14,40,000

For tie period 1.04,2011 to 1.09.2011 Sales —Rs. 8,406,000 Purchase ~ Rs. 5,80,000

Stock ason 31.03.2010 & 31.03.2011 was Rs. £,40,000&Rs, 6,80,000 respectively,

Additional informaticn available was -

a. Stock on 317 March 2010 was overvalued by Rs. 40,000
Stock was insured for Rs. 5,00,000 and there was 3 average clause in the policy,

S Calcuiate the amount of ¢laim.

OR




QUES. 02

‘Redmi Ltd. had issued 8,000 - 21% debentures of Rs. 50 each redeemable at par. Tha company offered
three options to the debenture holders at the time of redemption as under :

A 12% Preference shares of Rs. 10 eachat Rs, 12
13 % debentures of Rs. 100 each at par.
C. Redemption in cash.

The options wera accepted as under : option A by holders of 3,200 debenture , option B by holders of

7 500 dehenture and option C by the balance.

Pass journal entries In books of Redmi Lid.

QUES. 03 15

<. 50 each at par redeemable at par,
e dua.for redampticn in 4 anntal lots
geriod of debentures if the company

an 1% Jan. 2012, Gionee Ltd. Issued 600D, 9 % debentbre
Interest was payzhle on 31% Dec. every year. The debenturas are
starting from 31 Dec. 2012. Pass necessary journal entries

follows calendar year as accounting year,
OR

QUES. C3 08 +04+03

A, Yureka Ltd. made an issue of 20,000, 10% Dehentures of Rs.40 each. Pass journat entries uncer

following options {withoutna rration):
4. lssue at Rs. 40 redeamable at Rs. 40
5 lssue at Rs. 40 redeemable at Rs. 42
c. issue atRs. 48 redeemable at Rs. 40
d. lssue at Rs. 46 redeemable gt Rs. 4

o |ssue at Rs. 43 redeemable at Rs. 40

F lssue at Rs, 42 redeemable at Rs. 44

Find the numbear of equity shares of Bs 50 each issued gt Rs. 52.5C to be jssued agains:
redeemable prefarence shares from the fallowing details :

oraference share Capital —Rs 1,50,000 { Face Value —Rs. 100}

Crk

Premium on Redemption —13 %
profit & Loss A/c {CR) —Rs. 45,000
Secyrities Premium — RS. 20,000

¢. Eind the amount of Claim from the following detalls
stock on date of fire — Rs, 2,60,000
Salvage —Rs. 83,200
policy amount — RS, 2,00,000




QUES. 04 15
The Balance Sheet of 2 VIVO Ltd. on 30" June, 2012 is as follows :
. LIABILITIES RS. ASSETS " RS.
Equity Share Capital (Rs. 10 ) 10,00,000 | Fixed Assets 9,60,000
Preferance Share Capital [Rs, 20) 3,00,000 | lnvestments 1,25,000
Securities Premium 25,000 Stock F 2,50,000
Profit & Loss A/c 2,25,000 | Debtors 2,50,000
Creditors ¢ 1,50,000 Bank 1,75,000
] | 17,00,000 17,00,000
Following additional information is available (o you
1. Preference shares are redeemed on 1% July 2022 at a premium of 5 %
Investmenis are sold for Rs. 1,50,000
Minimum number of equity shares of Rs. 10 each are issued at par for the purpase of
redempticn.
Pass journal entries & prepare Balance Sheet after redemziion of nreference shares,
OR
QUES. 04 15
A fire occurred in the premises of Lava Ltd.on 1% 525222244 the stock of the value of Rs. 71,000 was
salvagec. The business bock and records were salvzzzc om which the foilowing information was
obtainad:
Particulars Rs.
| Purchased for the year ended 31- 3- 2014 " 5,00,000
i
Sales for the year ended 31- 3- 2014 ; 9,00,000
Purchased from 1-4-2014 to 1 -9-2014 1,40,000
|
Sales from 1-4-2014 %0 1-5-2014 2,302,000
Stock an 31-3-2013 2,00,000
Stockon 31-3-2014 1,408,000
o

Stock on 31-3-2012 was over valued by Rs. 10,000
Stock was insured against stock for Rs. 2,50,000

Calculate the amount of insurance claim for loss of stock

QUES. 05 Shortnotes (any 3) 15

a. Abnormazlgoods




LU T I =

Convertible Debentures
Average Clause
Mon Divisible profits,

Purchase & Sales ordsr,
OR

08
07,

a. Different methods for redemption of Debentures.
b. Rules as per Companies Act regarding redemption of prefefence shares.

T ALL THE BEST 2%

(h
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Date: Subject: Foundation Course- [IMarks: 75Duration: 2/2Hrs

Note: 1. Attempt all questions.
2. Figures to the right indicate full marks.
3. Each question has internal options.

Q. No.1. (a)Write any three success stories under RTI act.
OR

What are the provisions of CPA, 19867

Q. No.1. (b) Explain the scope of Public Interest Litigation (PIL).
CR

Write a brief note on the concept of Caveat emptor.

Q. No.2. {a) Define the term ‘Environmental Ethics’ and explain the challenges before it.

OR
Distinguish between Ecocentrism and Anthropocentrism.

(b) “Forests function as lungs of environment”. Justify your answer.
OR

Write a short note on Kyotec Protocol.

Q. No.3. (a) Write a note on the concept and applications of Nanotechnology.
OR
Write a detailed note on various uses of GPS.

(b) How man has made use of Biotechnology to increase comfort in his life?
CR
Write a note on the misuse of Information Technology.

I~}
&

[06]

{09]

[06]

[06]

[06]
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Q. No.4. Define motivation. Explain Abraham Maslow’s hierarchy of needs theory. f15]

OR
What is time management? Explain the effective strategies of time management.

L4

Q. No.5. Write short notes on any three of the following: [15]
i) Data interpretation
i) Waste management
jii} Goal-setting
iv) Basic features of urbanization in India

V) Affordable housing.
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AKBAR PEERBHOY COLLEGE OF COMMERCE & ECONOMICS

SEMESTER IV EXAMINATION
S.Y.B.Com.
.Business Law
Duration:2.30 hr.
Total Marks:75

Note: 1. All questions are compulsory.,
2. All questions carry equal marks.

Q.1. Whatis mean by prospectus?Explain it. 12 Marks
Case Study: A company closed the register of members, for a continuous periad
of 45 days. This was done by giving 7 days” notice in the local newspaper. A 3 Marks
member challenged the closure of register as invalid, Will he succeed?

OR
Q.1.  Write short notes (Any three)
a) doctrine of indoor management 15 Marks
b) Private company
c) Public company
d) Foreign company ,
Q.2.  Whatis mean by Copyright? Explain it briefly. 12 Marks
Case Study: A company named CASTROL Ltd. Was a company incorporated
under the law of England having its registered office in UK. it carried on business 3 Marls
atlarge and extensive scale in manufacturing, processing and marketing of high
grade Lubricating oil products in UK and severai other countries of the world.
The defendant who using containers with mark BESTROL which is deceptively
similar to plaintiff's trade mark CASTROL. Write the solution.

OR

Q.2.  Write short notes (Any three)
a) SEBI 15 Marks

b} Postal ballot
c} patent
d) Literary work

Q.3.  What are the salient features of limited liability of partnership? Distinguish 12 Marks
between partnership and company.
Case Study: X, Y, Z are partners in a firm. X dies and Y and Z continue the
business in the firm’s name. Afterwards the firm becomes insclvent. Discuss the 3 Marks
liability of X’s estate to the creditor of the firm.
OR
Q.3.  Write short notes (Any three)
a) Types ofpartnership 15 Marks
b) Advantages and disadvantages of LLP
¢} holding out




[

0F:3

Q.4.

Q. 5.

Q,.6.

d) difference between partnership and co-ownership
What is consumer dispute? Explain settlement

12 Marks

Case Study:A customer buys a bottle of reputed cold drink from a shop. There
was a worm in the contents. The sold drink company blames the shopkeeper. 3 Marks

Against whom should the customer bring an action?
OR
Write short notes.(Any three)

a) Consumer dispute
b) Settlement

¢) complaints

d) Protection council
e} unfair trade practice

Fill in the blanks {solve any 7)

1. In case of public company the minimum number of director is~——-=--~-- -

and the maximum number is -——-——-—-=ammux —

2. A patent is —----——memmmme in nature.
3. Acompany is known by

4. Doctrine of is a protection given to the company

against the outsiders.

5. Geograpnicai indication is granted for ---—----— years,
6. Partners collectively are called ——remeeae— —
7. The maximum number of members of the national commissien is —-—

8. Age of retirement for the chairperson under the competition Act, 2002

is years.

8. Complaint must be in

10. Rules for competition commission are framed by the
Government.

Multiple choice questions. (Solve any eight),

15 Marks
7 Marks
0
==
8 Marks

1. Where is the national commission under the Consumer Protection Act,

1986 setup,-
a. Bombay;
b. Delhi;

c. Chennal.




2. Partnership is 5 result of,-
a. Status;
b. Contract;
c.  Circumstances,

3. Trade mark is transferable .o
2. True;
b. False;
€. None of the above,

4. Which is not protected by copy right,-
da. Novel process;
b. Book;
€. Drama.

3. Appropriate Laboratory means -
a. Lab or organisation recognised by the Central
Government or State Government;
b. tabor Organisation establishad under any jaw aided
by Central or State Government;
. All of the above,

6. Which is the mode of dissolution of the firm by operation

of law;-
2. Some event making tha bartnership business
unlawful:

b. Insanity of a pariner;
C. Business undergoing losses.

7. Class Mmeeting is 5 Meeting of -
a. Ofall sharehofders;
b. Ofajl debenture holders;
¢ Particular class of members.

8. Additionaj director js appointed, -
a. By the Centra] Government;
b. By sharehofders;
C. Byboard of directors.

8. Competition Act, 2002, replaced

a. Indian Contract Act, 1872;

b. The Companies Act, 185s6;

€. Monopolies Trade Practices Act, 1969,
10. Prospectus can be issued by,

a. Private company;

b. Public company;

C. both
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Akbar Peel'hh{_by College of Com. and Eco.
S.Y.B.Com. (SEM-IV) ATKT Examination 2016-17
Subject : Computer Programming

Time: 2 1/2 hys. Date : Max Marks: 75

Note:- i) All questions are compulsory.

ii) Figures to the right indicate full marks.

Ql: [A] State whether following statements are frue or false.

(Attempt any eight) (8)
1. The Internet is also called “Information Superhighway™ .
2. The terms ‘Internet’ and ‘Intranet’ mean the same thing,
3. The Internet is controlled and operated by USA.
4. WWW is acronym for word World Wide Web.
5. Like OSI Model, the TCP/IP protocol also has seven layers.
6. The raw or known facts are called as information.
7. Processed data is called information.
8. The database and DBMS software together is called as Monologe system.
9. The database and DBMS software together is called as Database system.
10. Microsoft Access 1s a RDBMS.27.

[B] Attempt any seven. @

1) The OSI model consists of how many layers?
a)2 b) 8 c)3 d) 7
2) Which protocols are used for sending email?

a)SMTP and POP3  b)SMTP and MIMI  ¢)MIME and IMAP
d) POP3 and IMAP
3) Which protocols are used for receiving email?

a) SMTP and POP3 b) SMTP and MIMI ¢) MIME and IMAP
d) ) POP3 and IMAP
4} A collection of data that is related in some way is called—

a)Data b) Columns ¢) Database d) DBMS
5) A collection of data and related programs is called—

a)Records  b) Columns ¢) Database
d) DBMS
6) Data that is processed is called as--
a) Information b)Data c) Database  d) RDBMS.
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d) Displaying images b) Displaying video '
¢ ) Linking documents d) Performing calculations

8) Which of the following ways of connecting to the internet is the cheapest for short
term Internet usage?

-

a) ADSL b)Dial-up  ¢)FTTH d) ISDN £
9) Which of the following ways of connecting to the internet is most suitable for n;obil'e
device?

a) ASDL b) Leased Line ¢) FTTH d) Wi-Fi
10) —---- language is used primarily for data manipulation and processing.

a) DDL b)DML c) DCL d) DPL
() What are the types of conmections in Internet? (8)

(b) Explain the seven layers of the OSI model, starting with the bottom layer @

OR
(¢) What are the advantages of Internet? 8
(d) List five advantages of email. N
(a) Explain the terms DDL, DML and DCL. (8)
(b) What are advantages and disadvantages of DBMS? (7
OR
(c) Explain the types of databases. (8)
(d)What is database? Give five examples of databases. {7)
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(b) Write the steps to append data to a table,

OR

Q4. (c) Write the steps to Copy a table.

(d) Write the steps to insert the field in Datasheet View.

Q5. (a)Write the steps to creating a report.

(b) Write the steps to sorting the records.
- CR

Q5. (c) Write the steps to modify a query in Design View,

(d) Write the steps to printing a report.
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